
Power Lifting Station (100832)



Hex Bolt:(M12*25)

2X

Washer:(φ10)

Lock Nut:(M10)

28X

13X

Washer:(φ12)

48X

Big Washer:(φ12)

2X

Lock Nut:(M12)

24X

Hex Bolt:(M10*50)

4X

Hex Bolt:(M10*20)

2X

Hex Bolt:(M10*25)

1X

Hex Bolt:(M10*65)

2X

Hex Bolt:(M10*70)

4X

Hex Bolt:(M10*95)

2X

Hex Bolt:(M12*75)

8X

Hex Bolt:(M12*95)

16X



Maximum load of
single plate bar:
    130kg

21
45

mm

164
0mm1545mm

 Maximum load of
  single barbell
bearing short bar:
     150kg

Maximum load of
single handle:
    130kg

 Maximum load of
power tower crane:
      250kg

Maximum load of
steel wire rope:
     300kg

 Maximum load of
 single barbell
bearing long bar:
     200kg

Maximum load:300kg



1

M12*95 φ12

M12

φ12

M12*95 φ12

M12

φ12

M12*95

φ12
M12

φ12

M12*95

φ12
M12

φ12

Washer(φ12)-8PCS

Hex Bolt(M12*95)-4PCS

Lock Nut(M12)-4PCS



2 Washer(φ12)-16PCS

Hex Bolt(M12*95)-8PCS

Lock Nut(M12)-8PCS

M12*95
φ12

M12φ12

M12*95
φ12

M12φ12

M12*95

φ12

M12φ12

M12*95
φ12

M12φ12

M12*95

φ12 M12

φ12

M12*95
φ12 M12

φ12

M12*95

φ12

M12

φ12

M12*95
φ12

M12

φ12



3

M12
*75

φ12M12

φ12

M12
*75

φ12

M12

φ12

M12
*75

φ12

M12

φ12

M12
*75

φ12
M12

φ12

M12
*75

φ12

M12

φ12

M12
*75

φ12

M12

φ12

M12
*75

φ12

M12

φ12

M12
*75

φ12

M12

φ12

Washer(φ12)-16PCS

Hex Bolt(M12*75)-8PCS

Lock Nut(M12)-8PCS



4
Washer(φ12)-8PCS

Hex Bolt(M12*95)-4PCS

Lock Nut(M12)-4PCS

Hex Bolt(M12*25)-2PCS

Big Washer(φ12)-2PCS

M12*95φ12

M12

M12*25

φ12

M12*95φ12

M12
φ12

M12*95 φ12

M12*95 φ12

M12φ12

M12φ12

φ12

M12*25 φ12

Big Washer



5 Washer(φ10)-4PCS

Hex Bolt(M10*95)-2PCS

Lock Nut(M10)-2PCS

M10
*95

φ10

M10

φ10

M10
*95

φ10

M10
φ10



6
Washer(φ10)-4PCS Lock Nut(M10)-2PCS

Hex Bolt(M10*65)-2PCS

M10

M10*
65

φ10

φ10

M10

M10*
65

φ10

φ10



7 Washer(φ10)-6PCS

Hex Bolt(M10*70)-2PCS

Lock Nut(M10)-2PCS

Hex Bolt(M10*20)-2PCS

M10*20

φ10

M10*70

M10

M10*20

φ10

φ10

φ10
φ10

φ10

M10*70

M10



8 Washer(φ10)-14PCS

Hex Bolt(M10*50)-4PCS

Lock Nut(M10)-7PCS

Hex Bolt(M10*70)-2PCS

Hex Bolt(M10*25)-1PC

M10*50
φ10

M10
φ10

M1
0*
25
φ
10

M1
0

φ
10

M10*50

φ10

M10φ10

M10*50
φ10

M10φ10

M10*50

φ10M10

φ10 M10*70

φ10

M10
φ10

M10*70

φ10

M10
φ10


